J @ X ijl g Vihennys (vihennys 4)
Pdivamiiri: __ Pisteet:

10—4 = o 4 o

10—4 = 74— o 4

>-4= 7-4=

10—4 = 84— 4

6-4= 7-4=

§-4= 6—4=

10—4 = 4 o

10—4 = 6—4= 10—4 =

9-4= g8 —4 =

8§—4= 6—4 =

10-4 = 9_a—

6-4= 7—4=

www.snowmath.com



https://www.snowmath.com

J @ }{ E g Vahennys (vihennys 4)
Nimi: Paivamaara: Pisteet: _____
10-4=6 7—4=73 9-4=5 .y

8—4 10-4=6 7-4=3 =5

6—4 9—4=5 5-4=1 =3

8—4 10-4=6 8—4=4 —1

9—4 5-4=1 6—4=2 =3

5-4 7-4=3 8—4=4 =2

10-4=6 5-4=1 7-4=3 =5

7—4 10—4=6 6—4=2 10-4=6

5-4 8—4=4 9-4=5 =4

7-4 9-4=5 8—4=4 =2

9-4 6—4=2 10—4=6 =5

6 —4 7-4=3 6—4=2 =3

9-4 10-4=6

www.snowmath.com



https://www.snowmath.com

